DISCHARGE - GPM [I/min]

SERIES: 9622, 9722

GRAPH 1
THEORETICAL GPM

ACTUAL DELIVERY IN GPM [l/min] = GRAPH 1 - GRAPH 2
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SLIP GPM [I/min]

SERIES: 9622, 9722

GRAPH 2
SLIP

ACTUAL DELIVERY IN GPM [l/min] = GRAPH 1 - GRAPH 2
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SERIES: 9622, 9722
GRAPH 3

INPUT HORSEPOWER

TOTAL INPUT HORSEPOWER [kW] = GRAPH 3 + GRAPH 4
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SERIES: 9622, 9722
GRAPH 4
VISCOUS HORSEPOWER

TOTAL INPUT HORSEPOWER [kW] = GRAPH 3 + GRAPH 4

VISCOUS HP [KW]

20 [14.9] —
10 [7.5] —— }
4[3.0] 3
2 [1.5] - B |
1[.75] 3 3
AL301 A e A R S T SR R S A
3[.22] S L e TRy SERRRRRE  REEE RER AR
2[.15] - SR 3 :
1[.07] —— E—— } ‘ ‘
© m o K =) = ® w =) <) g g g
- = 3 2§ g 508 £ 8 3 A R~
™ < o o o o o — — 8 o o — —
%8 3 g8 gg8& & B 35 353
(Ce] 6] o
—

VISCOSITY - SSU [cSt]

IAGONAL LINES

RPM SHOWN ON D



SPEED (RPM)
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PRESSURE - PSI

SERIES: 9622, 9722






